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2% o At 0T | we | e | em | =m

* &H #Y35E 307 0.4 kg 6,048 5,184| 1,296
=<H x5 =87 hnyy 1.6 ke 6,048| 5,184 1,296
E®CH E=FHEE |EH 30497 0.5 kg 6,048| 5,184 1,296
o e Y5 kg e — =
M= FExTELS| =817 0.1 kg — 1,404 —_—
MLE E=EEE ke | = =] =
noH Y5 = FIE= 0.1 kg 648 594 486
moE HxtER 5] =5 FiE 0.2 kg 648 594 486
noE E=FRE |BH FiE 0.1 kg 648 594 486
X0t By e | == e e
=T HxEE| kg —— e e
X0t E=HEE b | e e e
E3x D HUY5E =55 0.1 kg 2,160 — 1,620
= i 3 > EL5| B 0.1 kg 2,160 — 1, 620
= E=FHRT |BH 0.1 kg 2,160 — 1,620
WL U5 M| EHY 0.3 kg 729 702 216
WL fExtER 5] FhH EH 0.6 kg 729 702 216
b L ESERE |WE BIx 02| ke | 20| 702 216
HL HY5E 5 FhE 0.2 kg 1,188 972 540
»hL TR S| RI& FE 0.4 kg 1,188 972 540
HL E=FWRE |(REF BE 0.2 kg 1,188 972 540
=X Y5 =5F 0.1 kg 454 — 346
=X HxtEs| B2F 0.3 kg 454 EE 346
s ESEEE (2T 0.2| kg | 54| —| 346
SAFE B U5E kg e -— _—
AE fE R i | = =] —
SAE H=HEE o | ] =]
Al Y5 kg e — _
Al HEXTER 5] R 1.1 kg 1,026 918 864
AY E=FWRE |K&o 0.5 kg 1,026 918 864
[63>Y:) U 5E i E 75 0.2 kg 2,160( 1,080 432
(03275 HEXTERE] FhH 5% 0.2 kg 2,160| 1,080 432
[63>Y) F=FRE |PA =1 0.1 kg 2,160 1,080 432
ya)¥ gAY Y58 #mE g 0.1 kg 864 756 378




HsemiR HER OKE)

11:00:48
B{+:202454 8278 (1) PAGE || 2/3
B4 L2, Eih BT | me | mE | b | wE

Y (A FaxtE5| FH e 0.1 kg 864 756 378
My E=HWRE |PE #i8 0.1 | ke 864| 756 378
=5 5% F 0.1] kg —| 918 —
=5 XA - 0.1] ke -— 98] —
=5 F=FHT (B 0.1 | ke — 918 —
Fo T35 i 0.1 | kg — 281 —
E3=Tvs x| " 0.1 | ke — 281 —-
EE=Ivs E=FERT |F 0.1| ke -— 281 —
(df=1%1= Y58 8 EE 0.1| ke | 1,728 —| 1,220
(X1=1%1= fAxtE5| 8 E[E 0.1] ke 1,728)  —| 1,220
(Zf=1%1= E=HRE |HB BEE 0.1 | ke 1,728] —| 1,220
Y=g A HU5E =i 0.1 ke 864 — 702
=L FAx A5 =874 0.1 ke 864 —| 702
f=L E=HRE |EH 0.1| kg 864 —| 702
IZLA )58 kg — — —
[ZLA faxt A5 kg s T
[Z Lot FE=FIR5E kg - = S
BY L B Y5 =5 2 | kg | 2,484 1,944| 1,512
BY s FA*ERE| 55 2| ke ,484| 1,944| 1,512
BY L E=FRE |HFH 1| ke | 2,484] 1,944 1,512
ELAY: Y358 kg —— —_— —_—
EJAVN XS] kg = s
EJAY E=FWRET kg — — —
= HY35E FhE =34 0.1 | ke 1,836 -—| 648
o RS EVE] FhE =874 0.1] ke 1,836 —| 648
;o E=F{RT |FHE =814 0.1| kg | 1,836 —| 648
EAHEA # Y358 EF 0.1 | ke —| 2,700 -—
ENEA x5 BF 0.1 | ke —| 2,700 —
EFALTA E=FHRE (BF 0.1 kg —| 2,700 —
TOhEts (YT 0.1 ] ke —_ = —
TR xRS 2.0 kg — e —
ZOMEER  |F=EHRE 0.1 | ke — - —
BEAD Y% kg — — -—
AEZY faxtEE| 1UK 397 HE7S7 0.5| kg | 3,240| 2,160 864
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2% = Eth 9T | wu | mm | o | RE

AEAU E=FWRT {7 ®@E7TT 0.4 kg 3,240] 2,160 810
oy ARV B Y5E kg — e =
pops ARV ExELE| B ANEE 0.7 kg 540 432 302
AELD FE=FR=T |FFHF ANEFE 0.3 kg 486 324 270
AEAhL  |gYE ke =l mfl o=
BEM HExHR5| pi bt FAYA 0.5 kg 1,188 810 432
mEMN E=FHRGE |HhTFH FAUH 0.4 kg 1,134 756 270
FOAE HY5E kg — = =
ZoOMAE [N 3.0 | ke el el =
zomAE |E=EE= gl @ | = =] ==
AT I #UE I T T G
B ST HxtE S| a7 dtiEE 0.3 kg ,700] 1,836 540
BT E=FWR5E L5 F tiEE 0.4 kg ,700f 1,836 540
e 5% kg _— = —
BT bl TAUh TFToT—4H 0.2 kg 7,560 3,780 , 376
B B=FWRTE |([FAUHD FTR—Y 0.2 kg 7,560 3,780 2,376
BT By iz —f —f —
BhERF AxtHR 5| FAUH @ [l g 0.3 kg 3,780 2,6376] 1,296
BisRF FEZHRSTE |FAUA [y 0.3 kg 3,780 2,376] 1,296
ZOMEF |gUE g Il ==l = ==
ZDMIEF x| 7.9 kg 648 594 486
FDEF E=FR5E 5.3 kg 648 594 486




